May 18, 1978 pag 1 from June

Law Office Report #30

given on radio

Ranch Audit: Separate from this report is coming in a package the copied material on the ranch which was put together by Claire and Bonnie. If the audit people ask, they will be told that the records were sent down to Richard because he is familiar with the accounting system and would have to look the stuff over in order to reply to the auditors.

Some time ago I gota message to send over anything I had on the lease of the irrigation system. I sent you everything I had, xeroxes, in Law Office Report #23, dated March 22, Item 10. Claire checked her meords, has nothing further. Am sending duplicates with Ranch Audit Package.

- 2. Danny Pietila Trust Account: See Law Office Report #21, dated March 7, Item 5. To that report I attached a letter to be signed by Chaikin and returned. Have received nothing. I am sending with this report a POWER OF ATTORNEY authorizing Jean Brown and Bonnie Beck to obtain copies of missing bank statements for the Pietila accounts, in order that we can compile the accounting, send it over to you for approval, and then keep it on hand. The Trust Account monies have been all used up by Pietila but until we have a full accounting showing by bank statement and cancelled check, item by item, that the accounts balance out, any accusations made by Pietila or Wanda Johnson that we still have his money are open to be used by Baker. So, PLEASE have Chaikin sign the power of attorney and mail it back to me as soon as possible. DO NOT DATE IT.
- 3. James and Irene Edwards Property, 1752 McKinnon Street, that burned last year: The instance company settled for \$16,800; from that comes \$5,311.57 plus interest at 7% from 2/1/78 to date of payment to go to the mortgage holders, and \$78 for real estate costs, the balance to go to the Edwards. We will send over the balance check as soon as it is received.
- 4. Mercedes Guidry insurance cash surrender: The forms require '
 a NOTARIZED signature. I told Mildred this over the radio--she
 said go ahead and send it, that would be no problem. So here is
 the cash surrender application, to be signed in the presence of
 a notary public. The Notary signs at the lower left; Mercedes signs
 on the right side at the checkmark. If you are able to get this
 done, send it back to me when you can and I will forward it on to the
 insurance company.
- 5. Oliver Morgan letter from his attorney. Please see that he gets the attached letter and see if there is anything we need to do on this end.

B4\$(1)

May 18, 1978

Law Office Report #30

page 2

from June

6. Levatus McKinnus - lawsuit. In January I gave James a letter from McKinnus's attorney to forward on to him, and to radio that the attorney wanted to talk to McKinnus. Now McKinnus's neighbor has called, saying that the attorney was looking for McKinnus and had no idea where he is. I do not have the letter that I gave James; would you do some tracing on this and see if the message ever got to McKinnus and if response is necessary. The attorney's name is John Sutter, I think he is an aka Oakland.

- 7. Exie Eleby/Melita Gibson On Law Office Report #8, I wrote up Exie Eleby and Melita Gibson. Exie is legal guardian of Melita, who is child of Jean Alexander. Your recommendation was to get legal permission of the court for the child to travel out of the country with Exie. You wanted the mother to sign a consent and say that she had no knowledge of natural dad's whereabouts.

 This is a Los Angeles case. The attorney I guess would be Frolich, who knows all about Jean Alexander's case... I explained this to Mildred on the radio, who said, wait and further word would come from you. Nothing has been said since, so I'm asking once again, considering the problem with Exie's son and the property, which Rudy's sister is familiar with. Vee says that Exie is very attaheed to the child, and Rudy says the child has no contact with any other children except at school because Exie keeps her in the apartment all the time, making an unhealthy relationship...too dependent on each other and the child needs contact with impers. Jean A. still comes to service in SF, plays the organ every service now, still as dippy as ever. The dad was going to come out to Calif last fall, but didn't; he did call Lisa, the 16 year old, and ask her to comevisit him in Louisiana but nothing ever came of that. That was in December.
- 2. Attached is list of people who have been helped by us and kept from jail, etc. which eventually will be submitted to HEW, so says James. He is working on the Medi-Cal/Social Security analysis of this project. This part that we prepared came from discussions with Brewster and Lilly. It is bbviously just a fraction of the total possible; it is all we can remember at this point. The total comes out to \$10,108,250 savings to the State... this of course includes projections on people who wouldhave ended up in mental institutions for the rest of their lives.

B46(2)

I, Eugene B. Chaikin, hereby appoint Bonnie Beck and Jean F. Brown as my attorneys in fact, for the specific purpose of obtaining any and all information relative to preparation of an accounting for the closing of the savings and checking trust accounts I have maintained for Daniel L. Pietila, with Bank of America, Ukiah Office. Said accounts are numbered 1289-01923 (savings), and 0128-6-00663 (checking). Said attorneys in fact may receive coples of bank statements, cancelled checks, and send any correspondence on my behalf in conjunction with said accounts.

Eugene B. Chaikin

ORIGINAL

This is the one I need back, signed. June

1540 (3)

DOTALD RETETZKY

A PROFESSIONAL CORPORAÇION
SUMITOMO BANK OF CALIFORNIA BUILDING
16250 VENTURA BOULEVARD, SUITE 1102
SHERMAN ORKS, CALIFORNIA 91403

TEL. 788-5828 . 672-3211

April 10, 1978

Oliver Morgan, Jr. 1435 Alvarado Terrace Los Angeles, California 90006

RE: Industrial Injuries

Dear Mr. Morgan:

It would be appreciated if you would, at your earliest convenience, contact the office so that we may discuss your case.

Very truly yours,

Donald RENETZKY

DR/aay

B46(4)

	•		
. •	Conviction & Projected Time Would Have Served		TOTALS
MARIE L.	Minimum 3 years State Penn. (prior record) Heroin addict. She is off the streets and her	\$20,000 per yr.	\$60,000
•	children are off welfare.	\$150 per mo. per child	8,100
CHARLES W.	Assault on police officer with weapon. 90 days to 6 months in County Jail. Alcoholic, physically disabled	\$600 per mo.	- - - 1,200
GREG W.	Mugging elderly woman on street. 1 year in County jail. 3 years probation. Would have been repeat offender.	600 per mo.	7,200
SAMMY J.	Car theft, prior felony arrests, on State probation when convicted for last charge. 3 years State time, plus 3 more years probation.	20,000 per yr.	60,000
TOMMY J.	Drugs. 6 months Juvenile Hall.	1,200 per mo.	
LINDA A.	Drug addict, child abuse, theft. County caring for 3 children. \$50 day drug habit. 3 months County jail.	150 per mo 600 per mo	1,350
STANLEY C.	Burglary, petty theft. 10-15 years State time.	20,000 per yr.	300,000
JOE W.	Burglary. 1 year County jail.	600 per mo.	7,200
PAUL M.	Had already served 3 months in Camarillo Hospital for drug abuse. Forgery, breaking & entering burglary. 3-5 years State time.	20,000 per yr.	100,000
ТОИИУ В.			:
- oregi p.	Burglary. 120 days Juvenile Hall.	1,200 per mo.	∙3,600

B4 C(5)

	Conviction & Projected Time Would Have Served	TOTALS
KEVIN G.	Drugs, truancy. 120 days Juvenile Hall.	\$1,200 per mo. 3,600
JERRY W.	Car theft. 2 years Calif. Youth Auth- ority (CYA)	3,600 per mo. i 86,400
GARY J.	Stolen credit cards. 6-9 months County Jail.	600 per mo. 5,400
JOHN H.	Drug abuse, burglary, possession of stolen property. 7-9 years State time.	20,000 per yr. 180,000
RON T.	Drug addict, petty theft. Residential treatment programs & hospital for drug addiction, and County jail. Probation 5 years. 15 year heroin habit.	25,000 per yr 375,000 in residential treatment, projected to age 40, came to us at age 25
WILLIE G.	Theft. 3-6 months County Jail.	600 per mo. 3,600
JOE J.	Theft. Prior record of theft and assaults. 3 years CYA.	3,600 per mo. 130,000
ODELL R.	Pickpocket, petty theft. Heroin addict. 6 months County Jail.	600 per mo. 3,600
TYRONE D.	Theft. 9 months - a year Juvenile Hall	1,200 per mo. 14,400
ЈОНИ G.	Emotionally disturbed, child molesting. 18 months CYA	3,600 per mo. 64,800
VINCENT L.	Arson, emotionally disturbed, incorrigible child. Spent years in boys' homes. Would have been institutionalized.	25,000 per yr ~ 625,000 in residential itreatment, iprojected to age 40, came to us at age 15

B4(c)(6)

	Conviction & Projected Time Would Have Served		TOTALS
RUTH T.	Reckless driving, hit and run. 6 months County Jail.	\$600 per mo.	3,600 <u>‡</u>
JERALD J.	Reckless driving, hit and run. 6 months Juvenile Hall.	1,200 per mo.	<u>-</u>
DONALD S.	Unlawful possession of weapons. 1 year County Jail.	600 per mo.	7,200
DAVE G.	15 year prior record in State Penn. \$500 day heroin habbit. Burglary, robbery. 10 years State time.	20,000 per yr.	200,000
ROOSEVELT T.	Assault with weapon. 1 yearCounty Jail.	600 per mo.	7,200
VIVIAN G.	Forgery, prior record. 3 years State time. 3 children, County aid while she would have served time.	20,000 per yr. 450 per mo.	60,000 16,200
VITA C.	Shoplifting. 3 months Juvenile Hall.	1,200 per mo.	3,600
TANYA B.	Shoplifting. 3 months Juvenile Hall.	1,200 per mo.	3,600
MELVIN L.	3 years State time already served. On probation 2 yrs. Emotionally disturbed	20,000 per yr.	40,000
CLEVELAND N.	Drug addiction. 1 year County Jail.	600 per mo.	7,200
JERRY L.	Assault, burglary. 5-10 years State time.	20,000 per yr.	200,000 j
VERNON G.	Welfare fraud. 1 year County Jail. County support for 1 child.	600 per mo. 150 per mo.	7,200 1,800

B4 c(7)

• •		
*	Conviction & Projected Time Would Have Served	TOTALS
HENRY C.	Catatonic, disabled; would be institutionalized most of his life.	\$25,000 per yr 700,000 for residential treatment, projected to age 40, came to us at age 12
PATRICK P.	Theft. 3-6 months County Jail.	\$600 per mo 3,600
KEVIN D.	Truancy, theft, incorrigible. 3 years CYA.	3,600 per mo. 130,000
CHRIS K.	Possession of and selling drugs. 3 years State time.	20,000 per yr. 60,000
MELVIN J.	3 time felony loser, up for 3rd time. Drugs, assault, robberty. 5-7 years State time.	20,000 per yr. 140,000
том к.	Emotionally disturbed child. Incorrigible. Would have been institutionalized most of his life.	\$25,000 per yr 825,000 for residential treatment, projected to age 40, came to us at age 7
камоок в.	Minimum 1 year County time.	600 per mo. 7,200
VERNA J.	Drugs street gangs. 120 days Juvenile Hall.	1,200 per mo. 4,800
SEBASTIAN II.	Street gangs, drugs. 3-5 years CYA. 3-4 years County Jail.	3,600 per mo. 216,000 600 per mo. 28,800
TED M.	Street gangs, drugs. 3-5 years CYA	3,600 per mo. 216,000
MARK S.	Incorrigible, truant 1-3 years CYA	3,500 per mo. 130,000
JOHN B.	Assault on police officer. 1 year County Jail.	600 per mo. 7,200

B4 (8)

	Cónviction & Projected Time Would Have Served	TOTALS	
MIKE P.	Assault on police officer. 1 year County Jail.	\$600 per mo. 7,200	
RUTH C.	Drugs, prostitution, forgery, theft. 6 years State time; plus federal charges. Child in foster homes til placed on probation, would have remained in foster homes had she served time.	20,000 per yr. 120,000 2,600 per yr. 14,400	
	Child also had brain surgery when very young and requires special educational attention.	2,000 por 3.00 2.7,000	
ELIHUE D.	Burglary. 5-7 years State time.	20,000 per yr. 140,000	
JACKIE C.	Emotionally disturbed juvenile. Would have been institutionalized.	\$25,000 per yr 750,000 for residential treatment, projected to age 40, came to	

11.1.1

B4 c/9)

CAROLYN

#30 pg.1 #2

I do not know if they sent the Janaro papers I requested yet...TIME IS RUNNING OUT!!! WHAT IS THE HOLD UP, I HAVE NOT GONE THROUGH ALL OF THE PAPERS THAT ARRIVED THEOTHER NIGHT...ARE THE MAJANARO PAPERS IN THAT BATCH? IF NOT, WHY HAVE THEY NOT FOLLOWED MY INSTRUCTIONS AND SENT THEM???

IT IS URGENT AT THIS POINT TO SEND THE RECORDS I REQUESTED AND KEEP NO COPIES THERE SAVE A PROTOCOPY WHICH SHOULD BE BURNED WHEN THEY LEARN THAT I HAVE THE ORIGINALS-HERE...IF THEY PROGRASTINATE ON THIS...THEY MAY END UP COSTING US A FORTURE...OR SETTING UP SERIOUS TAX PROBLEMS FOR THE CHURCH UNNECESSARILY THAT I COULD COVER IF I HAVE THE RECORDS HERE AND HANDLE THE AUDIT PROM HERE. VIA CORRESPONDENCE...

HANDLE THE AUDIT FROM HERE, VIA CORRESPONDENCE.

Send everything on Truth and P. T., and there after the rest on Valley etc...
senn all cancelled checks as soon as possible, on all accounts....

YES, GET THE NEEDS SLIPS BURNED AS YOU GO ALONG...AT THIS POINT, I WOULD BURN THEM AS SOON AS THEY ARE USED...I WOULD NOT NOID ONTO THEM AT ALL!!!

FIRST PRIORITY IS TO SEND ANY WORKSHEETS WITH TISH'S ANALYSES ON THEM...
THIS SHOULD COME AHEAD ON ANY ACCOUNT...THE BILLS CAN COME AFTERWARD...
THEY ARE MUCH HARDER TO FUT TOGETHER....

Please press like hell to get the Janaro stuff out of there if it is not already in this batch or enroute....

Thanks.....Tish

ç

14.41

Richards wint out last note

THANK YOU! MAY WE HELP YOU PLAN YOUR NEXT TRIP?

No Ca

TO TISH

PLEAS GIVE ANSWER SO I CAN COMMUNICATE IT ON THE RADIO

CAROLYN

TICKET ISSUED FOR JOHNSON



Jackson Travel Service Ltd.

TO TERRY DURORD

Law Office Report No. 30

May 13, 1978 Page 1

from June

- 1. Gregory Watkins and Charles Williams Here are another batch of Mail-In Reports, to be divided between the 2 of them and filled out and mailed back to me all together. I'm not sure who has this responsibility; maybe Rita Tupper? I noticed she handled Linda Arterberry's letter to p.o. Anyway, get these filled out and return to me. There's enough for 7 each.

 Also, each have hadtheir probation officers changed, and a letter from both of them would be nice. The probation officer now is:

 Lawrence Mitchell, Senior Probation Officer, Adult Probation Dept., Hall of Justice, 880 Bryant Street, Room 200, San Francisco.

 GIVEN JAN GURVICH TO DO June Will prepare for Mail
 - 2. Regarding sending over supplies to Tish, I have checked for one last time the 8 filing cabinets and found some 77 stuff for Valley. I am gradually sending over everything, piece by piece as people go out and I can send duffel bags out. What I want to know is, in order of priority, which do you want first: Valley, Truth, P.T., 1976 rest homes stuff, cancelled checks for all accounts, Touchette's old records dating back to 69 (!), You want me to burn the needs slips, right?

GIVEN TISH, WAITING ANW

GIVEN GENE AND HARRIET, WAITING ANSWER

Strip plates and Lump

guen to Ho - 5/19/78

B4 c (10)